Terraced House in Zurrieq



Reference No: 240061162-195

Zurrieq, South



€710,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): 148

Bedrooms: 3

Terraced House - For Sale - Zurrieq

ZURRIEQ – TERRACED HOUSE – Situated in a very sought after area. Property layout consists of an Entrance Hall with an Interconnected Street Level Garage, Living Room, Kitchen/Dining with access to Back Yard, 3 Bedrooms, 2 Bathrooms, and a Spacious Roof. Situated in a 4+1 Area, which opens further possibilities for development. For more information or viewing kindly contact one of our agents.

Features

- ✓ Kitchen/Dinette
- Water Utility
- Skirting
- Air Space
- Balcony
- Roof Terrace

- Entrance Hall
- Electricity Utility
- Pattern Tiles
- ✓ Well
- Back Yard

Rooms

- Kitchen/Dining : 3.94 x 7.52 m (29.63 m2)
- ✓ Living: 4.52 x 4.8 m (21.7 m2)
- ✓ Double Bedroom : 5.7 x 4.3 m (24.51 m2)
- Double Bedroom: 3.92 x 5.24 m (20.54 m2)
- ✓ Double Bedroom : 2.7 x 3.54 m (9.56 m2)
- Bathroom: 3.5 x 2.1 m (7.35 m2)
- Bathroom: 3.1 x 2.25 m (6.98 m2)
- Open Space : 0.9 x 1.45 m (1.3 m2)
- Open Space : 0.9 x 1.45 m (1.3 m2)
- Open Space : 3.54 x 7.5 m (26.55 m2)

Gallery



















Jean Claude Portelli Coleiro RE/MAX Superior - Fgura

M: 77585833

E: jeanclaude@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta